MiAmix ELix—8

{ERE A ;20184108 15H

sEtIEE & ?«J%‘ci—A ?%A,.ﬁ“ %%é-ﬁ SHEF— L
1[E18% (A-1) f&R 96 | 97 BHE
1[E18; (A-2) PN Tl 92 | 59 FLi%TH
1[E18% (A-3) B 70 | 40 BHE
Rk (A-4) f&R ™ 76 | 44 FLi%TH

KRRl (B ) #RM (A-6) RE# | 100 41 | HHE
#iRE (B-6) KB 67 | 58 BHE

RFRE(A-7) FLIETH 58 | 18 BHE

R (A-8) faR ™ 56 | 24 BHE

SR TEE (A-9) B 55 | 71 BHE

REEEL(A-10) RIRHD 97 | 64 PN Tl

1[E8 (B-1) fiE LR 58 | 57 PN

1[E18 (B-2) TR 37 | 67 RIRER

1[E]§% (B-3) BHE 28 | 59 sk

XiTEk (B-4) N 22 | 31 pg i)

ARk L () #EREE (A-5) MEAR | 85 | 42 | HiER
#iRM% (B-5) RIRHD 86 | 26 & 1L R

RiRE(B-7) TR 34 8 BEHE

X jTEk (B-8) N 26 | 11 BRHFE

SRLIRFEEL (B-9) hHRR 51 | 48 i LR

REEE(B-10) RIREHD 75 | 49 MEE

1[E18; (M- 1) timE 40 | 67 EER

1[E1E (M-2) FA[ITL=Y 57 | 51 BHE

1[E18; (M- 3) RIRHD 56 | 44 RIGER

YAUNRryhii—)U dbREER | 20 | 25 | HiEEIR

ik (M-5) dtifmE 36 | 33 BHE

BWINARTYMR—IL R (M-6) £ZHEW | 52 | 47 EER
HERBEM-7) fiE] 1L IR 45 | 69 BRIRHD

RimEk (M-8) JtiEE 28 | 28 RIFE

R (M-9) BHE 30 | 35 RIGE

SRLRFEE (M-10) EER 65 | 49 fiE] LR

REEE(M-11) £ZHET | 48 | 66 RIRHD

1/4



A—1(1[EE) =R 9 8 LIRS
B—1(1[EE) HEE 0 4 RIRHD
A—2(1[a]E) ez B I 0 8 LER
B—2 (X&) fER 2 o | 8 HER
YIhR—IL A—3(XiE) HEER 23 | 2 Iz BB IR
A—4 (HERRE) BHE 2 0 =R
B—3 (HERM) RIRHD 2 3 LER
A—5 CGRIEE) BHE 9 | 10 LER
B—4 (3GLREH) EHE 3| 4 BURER
A—1(1[m8) =58 5 9 NTi]
B—1(1[EE) BHE 0 8 EEE
A—2(1[E18) BERER | 3 1 EFR
B—2(Xj#) =ER 0] o0 BHE
TSRy TRER—IL A—3(XKiE) =58 0 0 5FR
A—4 (HERRE) RIRHD 0 4 PN Tl
B—3 (EiRE) mEE 0 4 | ERBE
B—4 (GREEE) PN L] 3| 4| EREBER
A—5 (BHLRFEEK) RIRHD 2 3 EER
1[EE(A—1) TR 2 0 FLiR
1[E5 (A—2) RIRHD 2 0 BHE
1[EE (A—3) L& 0| 2 RS
HERE(A—4) EER 2 1 EHE
NL—iR—IL (BEE-BF) R (A—5) RIGE 2 0 RIRER
ik (A—6) FLIETH 2 1 BHE
Rk (A—7) TNl 2 | o FLI%TH
BHLREH (A—8) TR 2 1 RIRH
REBE (A—9) EER 2 | o RIFR
1[E#;(B—1) hHRE 0 2 Iz B2 1R
1[EE(B—2) BHE 0 2 KB
1[EE (B—3) RIRHD 2 | o =ER
R (B—4) TNl 0| 2 A=A
NL—iR—IL (BEE-&F) R (B—5) NI 2 0 BRIRER
XivE (B—6) iR 1 2 BHE
XimE(B—7) EER 0| 2 BHE
SR EHK (B—8) /N1l 0| 2 RIRH
REEE(B—9) iz B2 IR 1 2 PN T}

2/4




1[E# (A—1) A | o 2 EER
1[E#; (A—2) EFE 0 2 pE il
1[E8; (A—3) RIRHD 2 0 =]}
R (A—4) BHE 0 2 EEE
NL—R—IL (518 BF) R (A—D5) ZHR 0| 2 RURER
ik (A—6) damE | 2 | o EFR
Rk (A—7) damm | 2 1 ifmf=}
BHLREEH (A—8) ZHR 2 | o BHE
REBE(A—9) RIRHD 2 1 EER
1EE(B—1) Mg | 2 0 =410
1[EE(B—2) BERER | 0 2 RIRED
1[E8; (B—3) B 2 1 Himm
iR (B—4) BHE 0 2 | MILE
INL—iR—IL (5089 - & F) #iRf%(B—5) RIRHD 2 0 SR
XiE(B—6) EREE | 2| 0 BHE
XirE(B—7) imm 2 1 | ERER
SHLREH (B—8) =R 2 1 BHER
REE(B—9) RIRHD 2 [ o | #mFWLE
1[E#; (A—1) AR 2 0 BHE
1[EE (A—2) PTG 2 1 fiE LR
1[E#; (A—3) BER 2 0 | &HEM
R (A—4) a8 2 | o AR
NL—R— )L (F5 ) #ERBE(A—5) BER 2 0 KR AT
R (A—6) fif LI 2 0 BRHFE
R (A—7) i LR 2 1| 2B
BHLREH (A—8) AR 2 0 KR AT
R (A—9) BER 2 0 2k R
1[E]8k (B-1) FRRE R 2 1 ii=f=}
1[EEk (A-1) BHE 1 8 RIFE
18§k (B-2) PN 0 2 FLiR
R (A-2) RIREHD 2 1 FRiE IR
Huh— i (B-3) BHE 0 4 ABR AT
R (A-3) RIFE 0 4 AR
i (B-4) =]} 1 0 KR AT
RESEL(A-4) RIREH 1 0 L%
LR EE (B-5) FRRE R 3 0 RIEE

3/4




TYRR—ZR—)L

A—1(1[E]E)
B—1(1[EE)
A—2(1[EE)
A—3(XFRE)
A—4 (HERRE)
B—2 ($ER%)
A—5(3ZiRE)
A—6 GRIEEE)
B—3 (3LLREE)

amp
o
44 b B OM
o 2 W Sm

oM OB & o m B
S W OH H
R i I

o~
Hol
i
Zm

11
18

10

25

18

10
10

R
B4R

4/4




